DD PEDESTALS =
W e

support!

—
—_—
—_—
e

—

If You your terracs Is not regular rectangular
or You know only total area m2

1 You need to element area and Input result
0mm ): 6.0. terrace 100 m2

w = [[10000 ]mm 100 = 10
10 m = 10'000 cm
:1 N ':1 N
Paversze o =[__600 |mm b = I b 10000. WE10000

paver size or
distance between
decking joists
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Deck columns and rows of

7 pes  4P” pedestals

17 pCcs -
mzism oo <ffm— paver quantity
Total No. pedestals = 11824 | pcs * pedestals quantity

No. pavers per row
No. pavers per column
Total No. pavers

example

® pedestal

‘e columns and rows of
v e 9 pedestals

No. pavers per row

TotaiNo.povers - e €= paver quantity
Total No. pedestals = 17580 pcs * pedestals quantity



